
Time: 10 Minutes Paper Math 5 Total Marks: 10

2nd Month, 4th Week, 6th Day Syllabus: Unit 2:  All (Monthly Test)

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. The greatest number which divides 2 or more given numbers

simultaneously is called their:

BBBB@@@@****ììììXXXX ______ ZZZZqqqq----„„„„zzzz‰‰‰‰ÜÜÜÜ~~~~~~~~7777ggggZZZZ7777ggggZZZZ„„„„™™™™ŠŠŠŠ}}}}ÔÔÔÔQQQQyyyy»»»»

(a) HCF ¬›ZW (b) LCM fzZDsZ÷ (c) Multiple ü (d) Factor bz~¢!

ii. There are _____ methods to find LCM of given numbers.

§§§§jjjj÷÷÷÷XXXX _____ ŠŠŠŠbbbb‰‰‰‰ZZZZ°°°°ZZZZŠŠŠŠ»»»»ffffzzzzZZZZDDDDssssZZZZ÷÷÷÷¥¥¥¥xxxx™™™™ääääÆÆÆÆ

(a) Two Šz (b) Three & (c) Four eg (d) Five æ0*õ

iii. Prime factorization of 16 is: ÅÅÅÅGGGGŠŠŠŠ‹‹‹‹~~~~ìììì:::: 16

(a) 16 × 1 (b) 8 × 2 (c) 2 × 2 × 2 ×2 (d) 2 × 2 × 2

iv. HCF of 20, 38, and 56 is: »»»»¬¬¬¬››››ZZZZWWWW¥¥¥¥xxxx™™™™,,,,:::: 56 ZZZZzzzzgggg 48, 20

(a) 4 (b) 3 (c) 5 (d) 1

v. LCM of 15, 30 is: »»»»ffffzzzzZZZZDDDDssssZZZZ÷÷÷÷ìììì:::: 30 ZZZZzzzzgggg 15

(a) 30 (b) 5 (c) 15 (d) 20

Q.No.1.  Find the smallest number that can completely be divided by 42, 38

and 16 without leaving a remainder: (2)

6666,,,,ZZZZkkkk§§§§bbbb„„„„ƒƒƒƒÂÂÂÂ¼¼¼¼ÌÌÌÌ!!!!****¹¹¹¹::::aaaa:::: 16 ZZZZzzzzgggg 38, 42 zzzz{{{{ƒƒƒƒÐÐÐÐggggNNNN****°°°°ŠŠŠŠ¥¥¥¥xxxx™™™™,,,,���� ::::1 ÎÎÎÎZZZZwwww����
Q.No.2.  Find LCM by division: (10)

::::ffffzzzzZZZZDDDDssssZZZZ÷÷÷÷&&&&++++gggg====„„„„¥¥¥¥xxxx™™™™,,,,:::: 2 ÎÎÎÎZZZZwwww����

(i)     7, 21, 14         (ii)  28, 32, 40

______________________________________________________________________
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